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L. »ax’s challenge to na1 (&)
a.nn772: if someone cooked a 1”n3 in milk on v, he incurs 5 sets of mpbn
i. Cooking on v” 13 is not fit for consumption
ii. And: eating 3"n), cooking n”11, eating n”11, making a fire (on v")
iii. But: if we apply %R0, making a fire should be exempt since it could be used for permissible purposes
1.Defense: indeed, "myan” should be deleted, replaced with
a) 751x if the 3"ny was of a nv1)
i. Challenge: ®n "1 stated that 3 mipn relate to preparation, 2 to eating (so last one must be prepration)
b) 771w 2x¥y: n21 holds that n¥pmn is n”nn (combination of vv. 1-2)
i. Challengel: n11 himself asked X7on "1 about bringing an animal from nxpmn
1.7 answered (per v. 3) that only bringing from %20 is limited — not nxpmn
a.Reason: deficiency doesn’t emanate from itself
ii. Challenge2: n11 taught that there is no marYn ;N on v (unlike Naw); NWYan+NwW2a=1 MpPoHn
C)77°wN 2y based on v. 4
i. Challenge: using n1WR *3y should carry double-mphn (v. 5)
d) w7pn oyy. perv. 6
II.  ®nn91m7’s suggestion: aligning X1on "1/n23:pw1 /8" (both dispute application of 9Xn)
a. Challenge (97): there is a disjunct between 8" and nav;
i. &”r allows for R because right now any of the pieces may be edible; but there are no guests now
b. Challenge (’mx “77 1772 Nww *7): disjunct between YW1 "1 and ®ToN "1
i. ywir 1 doesn’t accept RN because at least 1 of the pieces will be unfit; but all are fit for guests
I 0 7 vs. RP1 1 accepting %R as the basis for the dispute in our mwn (7 "1 did, 1”1 did not)
a. 777 in Rn»3, 0" challenged 8" that he was baking unusable bread (narn); 8™ should have answered &
b. w07 71 (counter): in ®n»3, X" challenged »™ that he violates 7”21 v"1; >y didn’t answer, but he answered in our mwn
i. Similarly: X" may have answered %X in another (unavailable) xn» 2
Iv. Final rulings in our mwn
a.717. we follow 8™
b. pny’ ’1. we follow ®1na ja (wash in cold water)
V. noy 1w (amount of dough permissible to knead on noa)
a. If: good quality, 2 ap of barley, 3 of wheat; if poor quality 3 of barley and 4 of wheat
b. 27 in Rabn the ap is 5/4 of a ap; the measure for noa and for nYn
c.  9op 27 our women knead small loaves (to be stringent)
i. »ax: become a X% — as they exempt from n9n
ii. 9o» 27 later they place together in the basket (8"13) so the whole mix is nna 27n
1.Question: does a flat baking pan (no sides) combine the loaves? 1p'n
2.3 opinions: regarding combinging (basket, oven or only if loaves connect)
VI. "1 mwn: baking on noa
a. 1”7 3 women may alternate kneading, baking;
b. w5 may only work on one dough at a time (no lag time)
c. p”1. depends on heat of oven and makeup of dough - if it rises, put cold water
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